
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

4216 × 0.001 = ________ 7753, 7 × 0.0001 = ________

1480, 2 × 0.1 = ________ 5840, 7 × 0.001 = ________

8494, 1 × 0.0001 = ________ 7723, 1 × 0.1 = ________

4831, 3 × 0.0001 = ________ 7955, 7 × 0.001 = ________

1063, 8 × 0.1 = ________ 1407, 6 × 0.01 = ________

1927, 7 × 0.001 = ________ 7551, 9 × 0.1 = ________

9744, 5 × 0.0001 = ________ 2293, 3 × 0.001 = ________

3861, 6 × 0.1 = ________ 8308 × 0.001 = ________

2756 × 0.01 = ________ 7496, 9 × 0.1 = ________

6132 × 0.0001 = ________ 6610, 5 × 0.01 = ________
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

4216 × 0.001 = 4.216 7753, 7 × 0.0001 = 0.77537

1480, 2 × 0.1 = 148.02 5840, 7 × 0.001 = 5.8407

8494, 1 × 0.0001 = 0.84941 7723, 1 × 0.1 = 772.31

4831, 3 × 0.0001 = 0.48313 7955, 7 × 0.001 = 7.9557

1063, 8 × 0.1 = 106.38 1407, 6 × 0.01 = 14.076

1927, 7 × 0.001 = 1.9277 7551, 9 × 0.1 = 755.19

9744, 5 × 0.0001 = 0.97445 2293, 3 × 0.001 = 2.2933

3861, 6 × 0.1 = 386.16 8308 × 0.001 = 8.308

2756 × 0.01 = 27.56 7496, 9 × 0.1 = 749.69

6132 × 0.0001 = 0.6132 6610, 5 × 0.01 = 66.105
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